
I would like to voice my concern regarding new proposed rules in the Amateur Service which would

allow 3khz wide digital transmissions to coexist in the CW bands. Such wide transmissions would

serve to destroy CW operation with unwanted interference from such broad signals. Compare 3khz to

the standard 100hz CW signal. The two modes should not be allowed to occupy the same

frequencies. 3khz is too wide and will cause undo congestion and interference in the CW band.

Create a digital sub-band to accomodate this broad digital signal if you must, but don't mix CW and

digital together. That would be a big mistake!


